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Compressed air is the most frequently applied process in industries. Most of the
industrial processes or utilities can not work without Compressed air system.. Its
operation efficiency has the great impact on the energy utilization efficiency for
industrial processes. The energy saving issues for the Compressed air system will be
deeply discussed in this report. The guidelines and suggestions of this report will be
regarded as a reference for plant engineers to improve the Compressed air system

energy efficiency.
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Energy Savings Through Heat Recovery

Btu savings/yr. = 0.95" x hp compresor hrs operation/yr.

Btu savings/yr.
Btujunit of altem ate fuel

$ savings/yr. = x $ fuel costunit of alternate fuel

* air cooled
Btwunit of alternate fuels:
Electricity =3,413 BtwkWh Gasoline =125,000 Btu/gal
Firewood = 20,960,00 Btu/cord Kerosene = 135,000 Btu/gal
Natural gas =1,000 Btwcu ft Propane =91,500Btwgal
#2 oil =138,500 Btu/gal
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